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_l PART A: Vocabulary
| Lirections: Choose tle word or phrase (1), (2);.(3)y or (4) that best completes. each

sentence, Then mark the correct choice on your answei sheet.

The number of unemployed workers --=--——-- between two and threc million.

1) emerges 2) regulates 3) Nluctuates 4) distributes
Toxic chemicals tend to -- in the body.

1) convene 2) enforce 3) segregate 4) accumulate
In some countries, it is 8 —-—------- that guests wear black clothes.

1) strand 2) convention 3) framework 4) participation
We do not know which behavioral ---------- are inborn and which acquired.

1) traits 2) conducts 3) schedules 4) requirements
The poems are supposed to be by Milton, but they are actually of doubtful ~————o-,
1) revision 2) transition 3) eantroversy 4) authenticity
The main features of this theory are clearly ------s- == in the first chapter of this book,
1) involved 2) exceeded 3) delineated 4) comprised
The replies to the questionnaire ---—--—--- broadly into there groups.

1) assign 2) segment 3) transmit 4) incorporate
Research shows that it is not divorce ----—-- = that harms children, but the continuing conflict
between parents.

1) per se 2) ad hoc 3) vis-a-vis 4) per capita
They have identified serious -—----- - in the design of the solar-powered car.

1) ruins 2) bidding “3) flaws 4) prohibition
You are more -------e-- to illness when you are tired.

1) prone 2) tense 3) definite 4) explicit

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

All hving things need to be protected from heat, cold and weather conditions, injury, other
amimals and germs. The skin (11) ---------- this work of protection. Birds are greatly helped by an
outer covering of feathers and most mammals (12) -----=-=-- a coat of fur. Human beings have hair
on their bodies'but not enough to act as a protection. However, the skin, although (13) ----s---- with
clothes for warmth in most climates, does a great deal 1o keep the body healthy, and, (14) --——--—--
cut or_pierced, is practically germ-proof. The whole of the human body is covered by skin, (15) -----
in thickness aceording to the part of the body that it covers. It is thinnest over the exposed part of
the eyeballs and thickest on the soles of the feet,

1) does a lot 2)'makes much 3) makes lots of 4) does much of

1)in 2) by 3) into 4) from

1) covering 2) it covers 3) it has to cover 4) it has 1o be covered
1) unless 2) though 3) it was 4) to be

1) that varies 2) which varies 3) that it varies 4) which it varies
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|- Directions: Read the following three passages and choose the besi choice (1);(2), (3) or (4). Then
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mark it on your answer sheet.

PASSAGE 1:

Polyester fibres. and by this we mean largely poly(ethylene teréphthalate) (PET}
fibres, dominate the world synthetic fibres industry. They constitute. by a consid-
erable margin, the largest volume {= |8 million tonnes/vg in 2000) of s¥nthetics
and far ourweigh nylons. rayon and acrylic fibres.! They are inexpensive, sasily
produced from petrochemical sources, and have a desirable range of physical
properties. They are suwong, lightweight, easily dyeable and wrinkle-resistant. and
have very good wash-wear properties. Their versatility is legendary. Both as
continuous filament yarn and staple fibre, they are used in countless vanenes,
blends and forms of textile appare! fibres, household and furnishing fabrics. They
form microfibres for outdoor wear and sportswear. Polyesters are used in carpets,
industrial fibres and yarns for tyre cords, car seat belts, filtercloths, tentage fabncs.
sailcloth and so on. While the dominant polymer is PET, other polyesters also have
their place.

1) Polyster fibers (PET) dominate the world synthefic fibers.
2) Polyester fibers are not dear in textile industry
-3) Polyester thoughimportant fiber but seeond in world synthetic fiber production

4) Polyesters made for various application such as fibers are the dominant world polymer
production

1) Polyester fibers are used in counted varieties

2) Polyester fibers are produced as only as staple yarn

3) Polyester fibers are produced as only as continuous filament yarn

4) Polyester fibers are produced as continuous filament yarn and staple fibre

1) Polyester fibers can be easily washed

2) Polyester fibers are strong but sensitize to light and water

3) Polyester fibers are wrinkle — resistant and have low strength

4) Polyester fibers have good propertics such as easily dyeable, light weigth and good mechanical
properties

1) Polyester fibers are difficult to produce from petrochemical sources

2) Polyester fibers are easily produced from inexpensive materials

3) Production of polyester fibers is not possible from petrochemical sources

4) Expensive petrochemical products makes it difficult to produce polyester easily

1) In year 2000, the polyester fiber production was almost 18 million tonnes

2) In year 2000, the polyester fiber production was second afier nylon

3) Polyester fiber production is less than 18 million tonnes this year

4) In year 2000, the polyester fiber production much less than 18 million tonnes
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PASSAGE 2:

Degracaten_of nylon fibres.does.not take,place only at high temperatures.
Exposure tosunlight and other sources of u.v. radiation also leads to a deterioration
in the properties of nylons. The effect is particularly pronounced in fine fibres with
a high surface area. The extent of photodegradation depends on the inténsiry and
the spectral distribution of the light. The humidity, the air quality and the presence
of substances, on or in the fibre, that may photosensitise it are also factors. Light
with a wavelength of less than 300 nm has a higher energy and'1s particularly
effective in promoting degradation. Under nitrogen, light in the 300200 nm
wavelength range has little effect on nylons, but in the presence of air and moisture
a rapid deterioration in properties occurs.

The chemical course of degradation, induced by light, is complex. Light at
wavelengths of 340 nm or less has sufficient energy to cause direct scission of the
amide link in the polymer chain. The major groups formed are amines, aldehydes
and carboxylic acids. The aldehydes accumulate in the polymer only to a certain
extent as they condense to form structures with conjugated double bonds.

1) Degradation of nylon does not take place

2) Degradation of nylon takes place when exposed to LR. radiation

3) Degradation of nylon does not take place at high temperature

4) Degradation of nylon takes place at high temperature with deterioration in its properties

1) In fine fibers the degradation is more

2) In fine fibers the degradation is less

3) In fine fibers the U.V. radiation has no effect on nylon
4) In fine fibers sunlight has no effect on nylon

1) The air quality does not éffect the photo degradation

2) The humidity effects the degradation of nylon fibers

3) The humidity and the air quality do not effect the photo degradation
4} The humidity has ne effect on the degradation of nylon fibers

1) Light with a wavelength of less than 300 nm scaters light

2) Light with'a wavelength of less than 300 nm promotes degradation

3) Light with a wavelength of less than 300 nm has higher energy which prevents degradation

4) Lightwith a wavelength of less than 300 nm has practically no effect in promoting degradation

1) Under nitrogen, light in the 300 — 400 nm has no effect on nylon.

2) Under mtrogen, light in the 300 — 400 nm has rapid affect on nylon.

3) Undernitrogen, light in the 300 — 400 nm has no affect on nylen. But effect in the presence of air
& moisture the stability will.increase.

4) Under nitrogen, light in the 300 - 400 nm has reasonably less effect on nylon, but.in the presence
of air & meisture degradation can occous rapidly.
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PASSAGE 3:

Several key findings emerged from  this
study. ' First, we found general support for
the hypothesis that the indushial
environment does not define a single
strategy for successfiul perfonmance in a
declining industty.  Either of Porer’s
generic strategies (low-cost or
differentiation) proved to produce successful
outcomes. Three of the five successfil finns
had higher scores for a low-cost strategy
compared to a differentiation strategy. The

other two successful finns had higher scores
for differentiation relative to their low-cost

strategy measures. The -importance of
achieving strategic core competence is
shown to have a strong effect on
competitively viable performance regardless
of which generic strategy is chosen.

Two . factors <identiied by principal
component  analysis were shown to
contribute to successful firm performance in
a declining industry. The first and most
statistically significant factor is comprised
of firm attributés that relate to tence
in management and the ability to eamn a
price premium for ome's product. The
second factor that served as an indicator of
successful’ perfformance is made up of two
measires related to economies of size and
production  efficiency: a competitive
advantage related to cost of production and
eamed market share, While the effect of
this factor on performance was less
significant, both in terms of marginal effects
as well as statistical significance, it does

lend support to the hypothesis that larger
firms are more likely to be successful (or at

least survive longer) in declining industries.

Which phrase is correct according to the text?

1) Porter's generic strategies emphasis on low-cost
2) Both of Porter’s genetic strategies proved to produce unsuccessful cutcomes
3) Low-cost strategy is dominant in comparison with differentiation

4) Key finding of this study is the hypothesis that the industrial environment does not difine a single

strategy for successful performance

28-

29-

30-

According to this text:
1) There are 3 successful firms among 5 firms

2) All of the 5 firms haye been successful in defining the key measures

3) Successful performance in a declining industry is regardless of which generic strategy is chosen
successful in defining the strategy for successful

4) Only 2 firms out of 5 firms have been
performance

A declining industry refers to:

1} Industry that has earned higher market share

2) An industry that has not successful performance

3) Successful performance industry
4) Competitive industry

Which factors are less significant in successful performance of an industry?

1) Firm attributes
2) Competlence in management
3) Cost of production and carned market share

4) The.ability to earn a price premium for one’s product

This text is considered as:
1) Conclusion
3) Abstract

2) Discussion
4) Theoretical bases of work
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